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DOWS30 18145.71 (-0.09%)
NASDAQ 5257.40 (+0.30%)
S&P500 2141.16 (-0.01%)

NIKKEI225  17184.59 (-0.30%)
SHANGHAI 3090.94 (+0.21%)

FTSE100 702047 (-0.09%)
DAX30 10710.73 (+0.09%)
CAC40 4536.07 (-0.09%)
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2/5t3  1.0883 (-0.0046)

113.02 (-0.59)
103.78 (-0.16)
6.7558 (+0.0247)

'3 1.22280 (-0.00232)
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WTI 50.85 (+0.4%)
COMEXE  1267.70 (+0.01%)
5. Y 2L X B

[Am  2033.00 (-0.37%)
AL 651.77 (-0.60%)
fI/et®| 1134.90 (+7.40)

KTB 11045 (-0.12)

LKTB 130.75 (-0.28)

6. 82 I F2 =1
=AM =52, g g5 deet
= &adsE e & 52H HE
ly 1.3820% (+1.40bp)

3y 13810% (+2.70bp)

Sy 1.4430% (+2.00bp)

10y 1.6260% (+1.30bp)
20y 1.6710% (+1.10bp)
30y 1.6760% (+0.80bp)
50y 1.6710% (+1.30bp)
CD 1.3600% (+2.00bp)

7. 2 Ag AofE

1Y -390bp (+2.05bp)

2Y -585bp (+1.10bp)

3Y -235bp (+0.80bp)

5Y -480bp (+0.50bp)

10y  -15.10bp  (-0.05bp)
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*CRS, 32| &% st2h E0|H g2
RS 22|
1Y  13550% (+3.75bp)
2Y 13375%  (+3.50bp)
3Y 13575%  (+3.50bp)
5Y  1.3950%  (+2.50bp)
7Y  14175%  (+2.00bp)
10Y 14750%  (+1.25bp)
1%2Y  -175 (-0.25bp)
2*3Y 200 (0.00bp)
2*5Y 575  (-1.00bp)
3*5Y 375  (-1.00bp)
5*7Y 225  (-0.50bp)
5*10Y  8.00 (-1.25bp)
*CRS 22|
1Y 11550% (-0.50bp)
2Y 1.0350% ( 0.00bp)
3Y  0.9900% ( 0.00bp)
5Y  0.9550%  (-0.50bp)
7Y  0.9050% (-1.00bp)
10Y 0.8900%  (-1.00bp)
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0]2-102 H=Q PMI (0] AH51.6, O|&:51.5)
98 Al7tn HMO|gsX|4= (0]7:-0.55)
22x-102 A PMI (0] AH52.8, 0|H:52.6)
109 M|ZQ PMI (0| AH52.6, O|&:52.6)
-109 MH|A PMI (G| AH52.4, O]%:52.2)
91102 F = PMI (0fA:54.3, 0|F:54.3)
-10¥ AH|A PMI (0] 4515, 0|F:50.9)
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5H2-GDP(YoY) (0|F:3.3%) / (MoM) (0] &:0.8%)
O|=-83 FENT}ZX|(YoY) (0]7H:5.8%)
89 HO|A-AP FEHTFAX|Z(YoY) (0]AH5.1%, O|F:5.0%)
109 CB AH|KFAIZ|X|2 (0] AH10L.5, 0|F:104.1)
=91.109 Ifo 7|UBHAX|Z (0]AH109.5, 0|F:109.5)
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0]=-3&27| GDP(QoQ) (0f &:2.5%, O|7:1.4%)
-109 OJA|ZHCH AH|XFAIZ|X|Z (0] A}:88.2, 0|7 :87.9)

357| DN8H|EX|4 (0AH0.6%, O|F:0.6%)
olE 10% 9| CPI(YoY) (G| A4:-0.5%, O|F:-0.5%)
9% MQIE (0fA3.1%, O|F:3.1%)
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